AR OB kK kB W EHE SRR

KgE 2 KN MEEBBY O R og
HABAE—TS) T B 2z H B ( 205-01 R
{HiER) [ - ]

g . A B[d/2s |4/23 {578 |s/9 (e/6 [e/8 |1/4 (174 (872 |8/2 |95 |95
5 WERE ek 12:10 | 14:00 | 11730  13:30 [ 11:20 | 13:44 | 11:27 | 13:40 | 11:40 | 13:32 | 11:28 | 13:36
x #| - Lo B hE| ME|] W i a 3 i | B W L]
— & al < 16.9 18.4 150 15.5 =20.5 24.0 24.8 26.0 27.00 23.5 32.8 28,0

x g ¢ 1.8 12,0 10.§ 1.0 16.0 169 158 16.8 =20.3 20.§ 17.§ 18.0
#al 4 ¥l - oso| oso! oo1| ooi| oor| oor| oor{ oo1| 182 1s2| o8o| o080
8- o=l - of1| o1 o} ou| eu| enr| oir| o1r| o11] o11| o1} on
mEE ®H /5 3.83 3.20 3.65 2.80 3.12 1 &m
HIE - Tl | Bl | Bl | Bl | BED ] BD | WD | D] WD | FOL | BLD | BO
Bl & # B o >30.0 »>30.0 >30.00 >30.00 >30.0 >30.00 »30.00 >30.0 »30.0 »30.0 >30.00 >30.0)
HE LY a2 <0, 00 <0. 005 <, 008
vy 7 vlwli R D. 1.0, N.D.
OB B e/t
H # w/l | <0.05 <0.05 <0,05
' suA(G) |w/L  [<0.02 <0.02 <0,02
#® = w/t <0.02 <0.02 .02 .
B oA #Hw/2 <. 0005 <, 0005 <,0005
Blyatsk 8w/t
P C B/t
FUAUDIFLY /1 <0.002 - <0.002] <0, 002
shosunzsly | we/d <, D005 | <0008 <, 0005 iR
P H - 7.1 7.4 7.8 7.4 7.4 7.4 74 1.9 71 7.7 7.8 7.8
# D 0| xe/ 1 o.d o8 97 o7 89 &n 8g 8H 81 o8 9.4 8.9
% B O Dlw/1 0.1 o8 <08 <0.§ <«0.8 <0.d <.y 0.8 0§ 0.6 <05 <0.§
BC -0 . D/t 1.4 1.4 o8 od &7 Y 1. 1.4 .24 2.4 od 0.9
# 8 S| we/ 1 4 4 < <« <« <« < < 4 - <
o Kk M) & P B MPR/100 | 49802 4.9802 2.2602 4.9E02 1.4E02) 1.4E0Z 1.3E0Y 1.3E03 2. 2E03) 5. 4803 5.002) 5. 002
Bln—Hex w/ 1 ' .
2 B W/l 0.51 0.1 0.24 0.21 0.75 0.29
2 vl 1 0.008 - 0.005 0.013 0.013 0,03 0.01
7 x -8 wg/ 4
) e/t <001 <0.0] <0, 01
¥ E $6l ng/ 4 <0,01 <0.01 <0.0]
B(W M)t <f, | <0.1 <0, 1"
W'y (ERE) /1 <0.08) <), 08 <0. 085
Wy © /i <0.01 <0.01 <0,01
7 v Hwll <0.1% <0, 15 <. 1§
TAIT BB W e/ d 0,030 <0,01 0.010 0.010) 0.020 0,040
By WA X W e/ L 0. 009 <0.001] 0,007 0.001 0,003 <0.00}
il R 0.474 0.141 0.245 “0.219 0. 354 0,248
BER gt 0,003 0.003 <0.003 0.908 0.010) 0.010
BIA B  8§|w/1 0.02 0,03 0.04
1.1, 1-Foenasy ac/ 2 <0.001
MO e R <0.001|
JooZ cha|lwld
¥ ®  H uS/a I D O . 46 50 49 49 49
L. Bt we/ 2 <5 <H <5 <5 <3 <5
WA F Y e/d 1.3 1.0 <1 1.9 <j| <]
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5 WETHE wmeem] 11024 | 13:30 | 11235 | 13:85 | 11:30 [ 13:25 | 11:40 {13245 [ 1134 [ 13040 | 119 | 1410
x | - Lt} | o ] L] L] L7} L] L L] i L7
I al ¢ 22.8 24.4 a3.d 14.0 60 &0 1.§ 58 6.0 6.8 1.0 11.9
x #H| ¢ 14.d 15.4 8.d &9 54 58 30 3.8 40 5d s5d s
& 4 | - pea| oso| oso| ose| oo1| oor{| 140] oon| oor| oo1| 14e] ooi
n o 2 - orr) o1r| onn| or1| einf oif| o o1r} o1 oir| oi1] eu
HE® R /8 12.81 .80 | 558 - 3.3 2.79 3.10
REAIE - ol | Fel] b | RO B Bl B Bl RO | BO i Bl
BIBBEE | e >30.00 >30.00 >30,0 >30.00 »30.00 »30.0f >30.0{ >30.00 »30.0 »30.0 »>30.0 >30,0
A F 2 Y A g/l <0, 005 <0, 005 <0, 005
@y T v st N.D. i.D. K.D.
il i B ‘I!’/-! ’
L % /1 <0.05 <0, 05 <0.05
2o L(B{l) |/t <0.02 <0.02 <0,02
o w/d <0.02 <0,02 <0, 02
® ok 4 ee/2 <, 0008 <, 0005 <, 0005
Bl7 443 Kk $8 w/t
P ¢ Blmfd
MU LS bY e/ d <0. 002 <0. 002 <0, 002
FRIPNIELY | e/ 4 <,0005 <. 0005 <.0008
P &7 H - 7.8 7.4 7.1 7.4 7.3 7.3 7.4 14 1.4 7.4 1.4 1.3
& D 0ol xes 1 g.8 9.9 1o 1.9 129 1.9 2.0 12.d 12.d 1.0 2.0 1.0
¥B O Diw/i 0.8 0.8 <0.8 0.6 <65 <0.5 <0.5 <0.§ <0.5 <0.5 <0.5 <0.5
mlc o D/t L nd 1.d 1 oo 1d 1.d 1o 1.4 1.8 1.3 o9
s S| =/t 14 4 <1 <« ! | 7 i <] 1 8 2
gk B B ¥F WG WPN/100 | 7.0E0Z 7.0E02 1.4E02 1.4E0Z 1.1E02 1. 1E07 1. 1E0Z 1.1E02 2.4E0F 2.4E03 4.9E01[ 4.8E0|
Bln—He x w/l .
£ B W/t 0.27] 0.15 0.58 0.23 0.09 0.34
£ # ag/ 1 0.053 0.014 0.009 0.005 0.015 0. 005
T/ N {we/d .
" el 1 <0.01 0,01 <0.01
& 8] e/ 2 <0,01 <0,01 <0.01
BB WME ) w/t <0.1 <0, 1 <0, 1
WY (R e/ 2 <0,0 . <0.08 <0, 05
Wy ©  Alw/d <0.01 <0.0f <0.01
7 v ¥/ <0, 15 <0, 15 <018 °
TEIY # B W e/ 2 <0.01 <001 0,010 0,910 <0.01 0.010
B 2w/ 0.001 0,001 0.002 <000} 0. 002 <0,001
MK EE Nt 0.233 0.087] 0.489 0,227 0.254 0. 190
BB H 0.008 0.014 0.008 <0, 003 0.003 0.005
HA B 8{wu/t <0,02 0,07 0.05 ‘
11 1-RUhnuIs we/ 2 <0. 001
T3k B ae/d <0.001
soeZshalw/t e ‘
18 ® MW uS/ca 43 438 4 4| af 40 494 44 46 . 4d a7 44
. K| ne/ 2 q < <§ 5 <h 5
TR L <|f <) 1.1 < <1 <]
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Ak A K B kK B MEHBERS

KigE A E ) WeENEN L o3
A B R —EE) ANEFE N OHOE ¢ 206-01 )
[Hi®E] L - . ]

% . A m|4s23 [4723 [s/8 |sre |ess [s/6 (/4 (174 |8/2 |87z [9/5 |9/5
S WEHH s el 12:45 | 13:30 | 12:05 | 13:05 | 12:10 | 1315 | 12:03 | 13:15 | 12:08 | 13:04 | 11:57 | 13:00
x g - L m|AE| B L] b L 8 B - 5] B
= #| ¢C 15.0 16.d 150 15.8 23.0 23.5 26.0 26.5 23.0 22,8 27.8 28.9

#* A ¢ 12.8 13.4 1.9 1.d 5.0 160 16.d 16.5 19.4 198 191 1s.9

B 4 L 080 | o80| oo1| oo1f oo1| oo1{ oo1{ oo01| obi| oo1| o20| om0

i, ®| - et | otr| onr| onm| enn| o enr| onn| onnf ou| on| on

mAw R /5 1.00 0.90 0.51 1.39 1.22 4,50

HEar - HE SR G| bR | BR| 6B | BB GR| 4B | B8 BB | 58|

BB BE | o >30.00 >30.0 >30.% >30.00 >30.0; >80.6] »30.00 >30.0 »30.0\ >30.0 25.7 9.7
AF 3 o A/t <0, 005 <0. 005 <0, 005

) T vl 1 N.D. H.D. i.D.

o8 M/l

Fi 8 w/t <0,05 <0,05 <0.05
2ob(6{) |»/d <0.02 <0.02 <0, 02
o #H it <0, 02 0,02 <0.02 |
.k $fee/d | <0005 <. 0003 <0008

Blrwssk 61/

P Cc Bl =/ 2

PUSUOISVY - |ag/d | <0.002 i <0,002 <0. 00

SREONUTSLY | e/ f <.0005 <.0005 <, 0005 3

P H - 74 7.4 74 7.8 7.4 7.8 1 1.1 1. 7.3 1.8 1.

& o Of we/ 4 9.5 o5 98 97 88 89 &% 81 85 832 0.0 8.8

BB 0 D|lwi - o.d o8 0§ 08§ 08 08 <0 0.] o8 LU 0.8 0.6

BC O D=/t .8 1.8 1.5 1.3 .4 1 .4 .y 8§ LB 37 43

HS 5=/ 4 8 4 1 i 4. 4 1§ 1 K

g & M B B ¥ NPH/100 | 8.3E0Y 3.3E03 2.2E0 2.2E03 1.1E04 1, 1E04 9.2E04] S.2E04] 1,3E04] 1.3E04| 7,5E0% 7.8E03

HBln—Hex s/ d
& H M/ 0. 85 0.69 0.92 " 0.82 1.08] 0. 85
& Bl 1 0,035 0.059 0. 102 0.085 0.118 0. 080
Zx/—NE | nfd ‘

[ wld <0.01 0,0 0,01
& ] we/ 2 <0,01 <001 0,01
(B M HE )Y/ <0, 1] 0.10 0,1

ey (W e/ 4 <0. 05 <0.08 <0, 05

s w©w Al <0,0] <0),01 <0,01
. <0, 15 <0, 19 <0, 18
YRS B B W el 0.070 0.050 0,080 0.070 6. 100 0.070)

o ERRE B W/t 0.003 0.007 0.014 0.013 0.02 0.003
WYX ¥ 0.754 0.16] 0.8651 0.687 0,877 0.547
BB el 0,025 0.050 0.082 0.085 0,075 0.035

BlJA B Slw/t 0.02 0.03 ' 0.03
1.1, I-hohnnedy =/ 2 0,001
OB W/l <0, 001
sonZ  halw/l . :

W OB S/ B & FE S D L O I sd 0 T
] - QYT ] < < <3 «f <h 13
WA A Y/ 1.9 1.4 <] 1.4 1.2 1.0
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KigE D E N WAEENEN W N o\
HhRB AR E) hOFE N OB OEK ( 206-01 )
[Hid4E] C - ]
1= AR Bl10/4 f1o/ [t7 [ Liers (iess (/8 |18 a/s |2/8 |34 . |3/4
5 pEWE - PRERSFR 11:56 | 13:05 | 12:08 13:10 1 11:55 | 13:00 | 12:05 | 13:10 | 12:03 | 13:09 | 12:08 | 13:40
P Bl - Bt L] ) i} Ht L | Lii L] i 57} i 5t
= ga|c 21.0 247 4.9 140 7.4 7.8 44 458 7.0 84 1.0 1L5
%x al ¢ 5.0 15.8 ¢4 9.8 7.0 7.3 3.8 44 40 50 60 6.§.
L ED 0|l - 060 oso| oot|-oor| oor| oo1] oer] oorf oo1| oo1| ooi| oot
2 | - oin| eit| o} o} o1} orr] omf| o1rj o1| o1r| o1} o1t
AE = /5 "5.01 1.9l 118 0.68 0,60 0.59
BERAIH - | Hm| o) Hr| SR 4R G| BB 5B 58| GE| G
BlIMBEE | >30.0 >ao.0 »30.00 >20.00 »20.0 »30.0 »>30.0 >30.¢ >30.0 >30.0 >30.00 >80.0)
PRI <0,005 - <0, 008 <0. 005
i1 I b ARTIN ] N.D. N.D. N.D.
I . R
L $ e/ ! 0,05 <0.05 <0.05
s oL{BE) |w/d 0,02 <0.02 <0.02
T B 3l we/ 2 <0.02 <0.02 <0,02
Bk 8 e/t <, 0005 <, 0003 <,0005
Blrarirk 8 w/d
P C Blw/i
HHYLELY e/ ! <0, 002 <0.90 <0.002
shoomuLsby | we/d <.000 <. 0005 , <. 0005
p “*H - 7. 7.4 7.8 7.4 7.4 7.4 7.d 7.4 7.4 7.4 7.4 1.5
#D O »e/ L o.d 9.7 100 10d 11.d 1LG 1200 1z 1L L 1l.g 110
#MB O  Dlwxft 0.4 07 1 1o o9 o8 «y <«§ LYy 1.8 0§ 0.
WMC O D|wu/t Lt e 1 3 Ly 1.3 g e 2.4 2.4 o0y 1.9
s Sl xe/t H [i 3 <l | <. «a g 3 3 2
ol 1 @ ¥ B epn/100 | 3.5E04] 8.5804] 79802 7.9E07 1.8E04 1.6£04) 3.6E04) 3.5E04| 1.7E0Y 1.7E0Y 2.3E0Y 2.3E03
H n—Hex w/d :
2 B Hw/i 0.53 0.57 0. 80 0.72 1.00 0.84
& B ue/ t 0,036 0.081 0.04 0.030 0.122 0.058
Tax/=E | wil :
i aw/d <0.01 <0.01 <0.01
HE #f ue/ 2 0.01 <0,01 0,91
BB ME)ad <0.1 <0, 1 <01
Ny (BN o/ 2 <0, 08 <0, 05 <0, 05
Ms ©  Alw/d <0, 01 0,01 <0, 01
7 El X ol <0.15 <0, 15 <0, 15
TUEY B ¥ e/ 4 0,039 <0.01 0.070 0.030 0. 180 0.030
o B B R /L 0,004 0.004 0.004 | 0.00. 0.003 0.003
TR 0.501 0.471 0.656 0,695 0.534 0.527
nRn w/l 0.030 0.047 0.043 0.024 0.05 0,043
BlaA B S|/t 0.07 0,03 0.0 .
1. 1. 1-boAmnedd ae/ 4 <0,001
P9 4k B W e/ <0. 001
Yoo7 s halw/l ‘ ) .
B B W pS/e g4 ef 6 8§ T 6d T4 73 82 81 8y a4
" 1 we/ 4 <5 <f <5 < <f <5
B4 A v/t <] 1.9 1.4 <1 L7 1.4



